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SN HEASAY
Hu: solHmAA
S SAAY OIS H D (crel:
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
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= 10,565,637
s 2,451,000
J| 64,106
& 2,962,371
= 19,500,881
sHZHA AL 23,959, 171 20,770,319 3,188,852
= 10,292,405
s 821,000
& 2,321,849
= 10,523,917
S293Z Ot =MD 1,403,204 1,272,751 130,453
= 376,827
& 230,336
= 796,041
SHEBSFA 26,730 18,350 8,380
201 LBtEZ| 8,850 10,900 A2,050
01 AtS2teldl 8,850 10,900 22,050
O =sZYS =& AL 7,000& » 58 » 504 1,750
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O Sll==38 ¥ =gSAX 600, 000& 600
O S2AH= g2t 20,000& * 203 400
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X XH -
S Tt

o2l

m
0

[l
0

J2

- SRI(2IAH) - NI AL

>

2A
R
J2H

0l
I

HJ

32,674

H

A

538,544
118,480
420,064

524,345

14,199

H

M

538,544
118,480
420,064

524,345

14,199

538,544,000

in

HJ

538,544
538,544
118,480
420,064

524,345

14,199

oW

M

460,000
230,000

69,000
161,000

360,000

100,000

H

H

H

460,000
230,000

69,000
161,000

360,000

100,000

Bl X (340%) 460,000,000

H

460,000
460,000
230,000

360,000

100,000




SN HEASAY
HH: solHMAAG
©°e: s33Z 0 EHML (et &2
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
T 69,000
= 161,000
SPZGHLEE XA 45,400 46,900 A 1,500
= 32,000
== 6,400
iy 7,000
202 Ot 600 0 600
01 =2UWodbl 600 0 600
O sgdgHLEE HR=X0AYI 20,000& = 1% = 30 600
307 QIZ2t0| A 44,800 46,900 A2,100
= 32,000
& 6,400
o 6,400
02 DIZHAASZE 44,800 46,900 ~2,100
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- 8=t 8,000,000 *8IH 2~ *70% 44,800
= 32,000
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o 6,400
HMetede soHE AEIS 95,900 95,900 0
308 AHXIEHHMI SOl A 95,900 95,900 0
05 AXHHZUAREES 95,900 95,900 0
O dMetde sHE 22 95,900,000& = 13 95,900
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HH: solHMAAG
o9l SeHY OISR D (crel
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
301 Let2 A3 = 15,787
= 31,573
12 JIEIEAZ 157,867 0 157,867
O ZJ2AEBHI=MAS 157,867,000 *1 4] 157,867
= 110,507
& 15,787
i 31,573
sy SAAME 25,000 0 25,000
= 12,500
i 12,500
402 RU2tXH=0IA 25,000 0 25,000
& 12,500
= 12,500
01 QIZIRI=2E2 X 25,000 0 25,000
Oid=g SEAS 25,000,000& 25,000
& 12,500
o 12,500
sgolo =XdesA 68,610 251,260 A 182,650
= 12,825
& 20,828
= 34,957
desgel AFH 22 6,000 5,760 240
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SN HEASAY
HH: solHMAAG,
el solo =X S (e e
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
SIHERXO0IXE 14,400 14,400 0
= 1,800
o 12,600
307 QI2t0| A 14,400 14,400 0
= 1,800
o 12,600
02 QI2HEAMEX 14,400 14,400 0
O sIIHER0 XN& 900,000& = 20 * 80% 14,400
& 1,800
= 12,600
SH=sEAES A& X 11,250 9,800 1,450
= 5,625
== 2,300
o 3,325
307 QIz2to| A 11,250 9,800 1,450
= 5,625
= 2,300
o 3,325
02 0QI2tHFAYE X 11,250 9,800 1,450
O sg=sEd88s 8 A A& 11,250,000 11,250
= 5,625
= 2,300
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= 12,000
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& 12,000
i 12,000
AMHNEFY 660,945 451,780 209, 165
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& 4,000
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402 QI2tXH=0IA 20,000 30,000 A 10,000
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01 QIZLRI22 X 20,000 30,000 210,000
OESsdt= &eldl N& 10,000, 000& *2JH 4~ 20,000
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SN HEASAY
Hu: solAMAG
ol Apmess (Bl
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
S22 MHHHEE S XA = 4,160
402 QI2tXHE201A 5,200 7,800 A2,600
& 1,040
i 4,160
01 2dR=E=x 5,200 7,800 22,600
O=Rcl2S THUHHE =HUXA 2,600,000 *2IH 2~ 5,200
& 1,040
= 4,160
T AEE NEEN MAMCT =4 51,600 84,600 A 33,000
& 15,480
= 36,120
402 QI2tXHE0IA 51,600 84,600 A33,000
& 15,480
i 36,120
01 BIZEXI=22 X 51,600 84,600 £A33,000
OLNBEH FIMNLHX =24 600,000 *86ha 51,600
& 15,480
i 36,120
gols Z29LHDI|l KA 100,000 0 100,000
402 QI2tXH=E0IA 100,000 0 100,000
01 BIZHRI=22 X 100,000 0 100,000
OGS ZILMI K& A 200,000,000& = 1CH*50% 100,000
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SN AEA S
BB S0l
ol FOIEES M Ast (S5 & 3)
S HH - S(BH) - HEAY - BE=2 Off &+ o4 glggi; HRS
2 18,360
AHANLHN SQ0H N 224, 100 224, 100 0
402 BIHXHZOIF 224,100 224,100 0
01 PIAREZEE 224,100 224, 100 0
OFHBALRAN S20H K& 83,000, 00021 *Gha*30% 224,100
FTADIZ XIS RSAHEAY X2 31,200 33,207 A2,027
= 16,200
= 4,500
2 10,500
202 01l 1,200 1,207 A27
= 1,200
01 =Uiotb 1,200 1,207 N
O FTAJIZ XIZXSHEAY ZX0iH) 1,200,000 1,200
2 1,200
402 RIZXH0IF 30,000 32,000 A2,000
2 15,000
= 4,500
2 0,500
NEEEEES 30,000 32,000 2,000
O FTAJIZ X RSH ALY 60,000, 00021 * 141 50% 30,000
2 15,000
= 4,500
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SN RS
HH: solHMAAG,
ool ROIRE AN Ys Chol 7 2
.G (BIH) - MISAY - BIAS Atol e =32t
= 10,500
AMERN=E AEIS XIS 372,000 372,000
g 186,000
= 7,400
o 178,600
402 QI2ENE20|N 372,000 372,000
g 186,000
== 7,400
o 178,600
01 QIZX=EEX 372,000 372,000
OAM&ERN=sY 148,800, 000& *5ha*50% 372,000
iy 186,000
= 7,400
o 178,600
W= ™Y X 14,000 22,542
= 7,000
= 2,100
o 4,900
402 QI2ENHE201 N 14,000 22,542
= 7,000
& 2,100
o 4,900
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SN HEASAY
HH: solHMAAG,
ol RIS M Y (sl &
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
01 QIZEE=E=x 14,000 22,542 A8,542
O3 HH| KNIAE 7,000,000*2ha 14,000
= 7,000
T 2,100
= 4,900
SH2 SEEA X3 62,500 5,000 57,500
= 25,000
o 37,500
402 QI2ENE201 N 62,500 5,000 57,500
== 25,000
o 37,500
01 QI2t=8E=x 62,500 5,000 57,500
OsttE2 SN NJAY 125,000, 000& x 14! x50% 62,500
= 25,000
= 37,500
HEtFAf =28 28 A 50,000 50,000 0
402 QI2EXHE20| N 50,000 50,000 0
01 QIZEX=E=x 50,000 50,000 0
O &g Juasg o2 50,000
- 5 7,000,000& *10= *50% 35,000
- A 2,000,000& * 153 *50% 15,000
S AIZRA0 XA 366,620 243,930 122,690
= 91,800
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SN HEASAY
HH: solHMAAG,
ol RAOIEES BM 23 (el de)
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
SHEHSMHA AIZR0 X = 81,690
o 193, 130
201 LEt2AH| 1,020 930 90
01 AtR22id] 1,020 930 90
O S 2AS =XAFY 1A 7,000 *3Y x20! 420
O JIS2. U= 23N =22 49 WM 60,000& = 100K 600
202 O4d] 1,500 1,500 0
01 =Woibl 1,500 1,500 0
O 20 MAL AJERA0 XIJAMY =&Y 20,000 *3H x25 1,500
402 QI2EXE20|N 364,100 241,500 122,600
= 91,800
== 81,690
o 190,610
01 IZX=2EX 364,100 241,500 122,600
O 2SS MHA QNI AS ALY 150,000, 000& *1.8nha*50% 135,000
& 40,500
o 94,500
O AMEguoudXxol2zgsst XN (558) 180,000,000& *1.7ha*60% 183,600
= 91,800
& 27,540
= 64,260
O BHESE AERJ0=sdY 91,000,000 * 14! x50% 45,500
T 13,650
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SN AEA S
BB S0l
ol FOIEES M Ast (5 &2
S HH - S(BH) - HEAY - BE=2 Off &+ o4 glggi; HRS
2 31,850
Db, I AT X2 34,000 8,736 25,264
= 8,400
2 25,600
201 U2l 4,600 630 3,970
01 ARl 4,600 630 3,970
O BIOISEMER AZ BYEols 223 1,000,0002 13| 1,000
O M=psTHols FH 2| 300,0002 1074 Al 2 3,000
O Dhsm M 22 S#29 M 60,0001 % 10JH 600
402 BIHXHZOIF 29,400 0 29,400
= 8,400
2 21,000
01 PIAEEE 29,400 0 29,400
O DisSMMSE YX X 4,200,002 * 14ha*50% 29,400
= 8,400
= 21,000
+320 WA H2WE X2 242,500 50,000 192,500
= 97,000
2 145,500
402 DIZXH0IF 242,500 50,000 192,500
= 97,000
2 145,500
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SN AEA S
M S AMAAS
ool AUTES FM A5 (69 &2
S HH - S(BH) - HEAY - BE=2 Off &+ o4 glggi; HRZ2
01 LIATRLZE 242,500 50,000 192,500
O +22UWAE HSHE 25,000, 0002 19, 4ha=50% 242,500
= 97,000
2 145,500
AN LAWY AET =52 L5 162,000 0 162,000
2 135,000
= 5,000
2 22,000
402 QI2ERZO0IH 162,000 0 162,000
2 135,000
= 5,000
2 22,000
01 QIATREE 162,000 0 162,000
O AENLAUNSK =524 &1 101,886.7:21 2,650 *60% 162,000
2 135,000
= 5,000
2 22,000
SteA XHSHEII A X2 60,000 0 60,000
402 DIZXH0IE 60,000 0 60,000
01 IATREE 60,000 0 60,000
O 8122 HEMHEII LXK 400, 00021 *300 *50% 60,000
NS0 MAEX E4 600,000 0 600,000
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SN AEA S
BB S0l
ol FOIEES M Ast (5 &2
S HH - S(BH) - HEAY - BE=2 Off &+ o4 glggi; HRS
ANSRI0 AR E4 = 500,000
= 20,000
2 80,000
402 RIZXH20IF 600,000 0 600,000
= 500,000
= 20,000
2 80,000
01 PIAREZEE 600,000 0 600,000
O NS0 MUK £4 100,000 *10, 000 *60% 600,000
2 500,000
= 20,000
2 80,000
=01 X & 591,840 302,300 289,540
= 110,426
2 481,414
SOrOIE ALSEH 23 X 60,000 64,000 A4,000
= 18,000
2 42,000
206 T2l 60,000 64,000 A4,000
= 18,000
2 42,000
NEEET 60,000 64,000 /4,000
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A st
oI mE2

M =M LG
&2 sIAHKXNHA (et &S
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
O sSUAHMAIEAY 22 40,000& *1,500% 60,000
T 18,000
= 42,000
LEEHN 2 A XN 157,500 64,800 92,700
402 QI2ENHE201N 157,500 64,800 92,700
01 QIZEEE=x 157,500 64,800 92,700
O NEEH Z2AHXD| 9,000, 000& *35CH *50% 157,500
2EE JAHIHX 4 XN 90,000 23,400 66,600
== 36,000
o 54,000
402 QI2ENHE201 N 90,000 23,400 66,600
= 36,000
2 54,000
01 It E X 90,000 23,400 66,600
O sJt =& sIIAHKXNEA 5,000, 000 & *36CH *50% 90,000
== 36,000
o 54,000
d2J MeF &X XA 16,065 11,550 4,515
= 6,426
o 9,639
402 QI2EXH=0l M 16,065 11,550 4,515
& 6,426
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A st
oI mE2

N sgZd=gdE
el SIIAKE (o E
SA BB S(S) - NRAY - BES of & o S DB

402 212tTH=01A = 9,639
01 222X 16,065 11,550 4,515

O 327 MW= X N& 85,000 = 189CH 16,065

& 6,426

o 9,639
sSAEEI N 15,000 15,000 0
402 12t =0l M 15,000 15,000 0
01 =22 X 15,000 15,000 0

O s%E&)l N 300, 000 »100CH x50% 15,000
st STMSAAE X 20,000 20,000 0
402 212tXt=01A 20,000 20,000 0
01 222X 20,000 20,000 0

O 20 =2 I3J| 32 A& 400,000 *100CH *50% 20,000
=sH 288 k289 sIIA X 58,275 94,950 A36,675
201 et 175 150 25
01 AtR2teld 175 150 25

O og&Ed sIIA A& =& Al 7,0003 »1H 25 175
202 044l 600 600 0
01 =LHOIbI 600 600 0

O U=H datd dg8E283E sJA ANFA=N 20,0003 » 1230 600
402 212tXt=01A 57,500 94,200 236,700
01 222X 57,500 94,200 A36,700

O sE2HI0 3= 2,300,000 *50CH *50% 57,500
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A st
oI mE2

M =M LG
&2 sIAHKXNHA (et &S
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
XEAH D MED| 22 N AHE 75,000 0 75,000
402 QIEXE0l N 75,000 0 75,000
01 IZX=2E X 75,000 0 75,000
OIDFHEI| 22X 150,000,000 10 A *x50% 75,000
H ESIHEHEX] Rol&)| X 100,000 0 100,000
& 50,000
o 50,000
402 QI2EXE0|N 100,000 0 100,000
& 50,000
o 50,000
01 QX2 EX 100,000 0 100,000
Ol E& THEHEX] Rolg)| XI& 200,000,000 * 1JHA = 50% 100,000
o= 50,000
= 50,000
58, S3&¥=E 84 1,021,860 775,000 246,860
= 90,480
o 931,380
=2 BIJIHEAIE X 165,000 34,500 130,500
402 QI2ENE20| N 165,000 34,500 130,500
01 QIZEX=EE=x 165,000 34,500 130,500
O &&H 221 "I AIE 15,000 *22, 000 m* *50% 165,000
TEtE 2=THEH K2 AFS 40,000 30,000 10,000
|
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X XH -
S Tt

el

oY 0¥
Jm o o
oy >
oy -
Jo fou

JIm O =
0

0l 12 o

0x

m
0
F
o

- SRI(2IAH) - MR A

0x
i

e

P
2

2A
R
J2H

0l
I

40,000

30,000

10,000

40,000, 000& *2ha*50%

40,000
40,000

30,000

10,000

H

M

97,200
38,880
58,320

54,000

43,200

H

H

97,200
38,880
58,320

54,000

43,200

21,600,000 & 9= *50%

M

97,200
97,200
38,880
58,320

54,000

43,200

H

H

32,000
12,800
19,200

57,000

A 25,000

in

M

32,000
12,800
19,200

57,000

A 25,000

20,000,000& 3. 2ha*50%

H1

32,000
32,000
12,800

57,000

A 25,000
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SN HEASAY
HH: solHMAG
ool S8, SiE= s4 (e d e
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
NEEFES sHEHM 24 A& = 19,000
o 57,000
402 QI2ENE0| N 76,000 76,000 0
== 19,000
iy 57,000
01 QI2t=2Ex 76,000 76,000 0
OXEESES godl g4 95,000,000 * 1JHA * 80% 76,000
T 19,000
= 57,000
A MAD|IBE XM 22,500 25,500 A 3,000
== 9,000
o 13,500
402 QI2EXHE201 N 22,500 25,500 A 3,000
= 9,000
o 13,500
01 I E X 22,500 25,500 23,000
O HgMAD|E M 1,500& *30,0003=*50% 22,500
== 9,000
o 13,500
&Etd Sset 9 MHAIE XI& 260,000 0 260,000
402 SIZHXE01M 260,000 0 260,000
01 QI E X 260,000 0 260,000
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SN HEASAY
HH: solHMAG
ool S8, SHES 4 (sl @)
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
O &sty csgs d A3 X 40,000, 000& *13ha*50% 260,000
H Milsot ASEE2H 6,323,340 6,911,726 A\ 588,386
= 6,313,500
& 2,520
o 7,320
M ASEE BEAZEN XE 6,295,340 6,879,230 583,890
= 6,293,900
o 1,440
201 LEt2HAH| 1,440 1,230 210
01 AtR22ld] 1,440 1,230 210
O MASEHE JEM ALY =X 0fAH] 7,000 *3% x40 840
O MASEHN MNEHAMY AMEEE S22 H& 60,000& *10JH 600
301 LEEAZ 6,293,900 6,878,000 A 584,100
= 6,293,900
12 JIEIE A2 6,293,900 6,878,000 584,100
O MASHEA =N (702,287 *8,962ha) 6,293,900,000& 6,293,900
= 6,293,900
A2l =ZM X 28,000 32,496 N4, 496
= 19,600
== 2,520
o 5,880
301 EtgAZ 28,000 32,496 N4 ,496
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SN HEASAY
HH: solHm A
S B MHisot AsSE2d (St &)
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
301 LBEtEAZ = 19,600
= 2,520
o 5,880
12 JIEIE A2 28,000 32,496 A4,496
O ZAHE2IEZM At 400, 000& *x70ha 28,000
= 19,600
== 2,520
o 5,880
HEtA =S THHH A K& 5,122,370 5,363,800 N 241,430
= 301,324
== 1,323,459
iy 3,497,587
detdsg A =4 4,176,860 1,932,000 2,244,860
== 1,155,000
iy 3,021,860
201 B2 HH| 1,260 0 1,260
01 At22t2ldl 1,260 0 1,260
O SFASLHR =& S S| 7,000 *3H *60! 1,260
202 O4d] 3,600 0 3,600
01 =UWdHbl 3,600 0 3,600
O SHSHER AFANE B 20,000& *3H 60 3,600
301 EtgAZ 4,172,000 0 4,172,000

_27_




SN HEASAMY
HH: solAme s
Chol: ZSASY MH MATT X & (el mel
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
301 LptBAaz = 1,155,000
= 3,017,000
12 JIEt2 A3 4,172,000 0 4,172,000
O 2 sgHA XA (BH=sAH) - &l 2,790,000
- M= 150,000& *5, 350ha 802,500
= 240,750
i 561,750
- 5<% 750, 000& *600ha 450,000
& 135,000
= 315,000
- 7= 950, 000& *50ha 47,500
= 14,250
= 33,250
- 0122 250,000& *5,960ha 1,490,000
= 447,000
o 1,043,000
O dedsgseil - 2l 322,000
- Msd(LxE8) 520, 000& *600ha 312,000
- Y033 (HSA 250,000& *40ha 10,000
O edsgeXl (E&2) - &4 1,060,000
- s 1,400,000& *700ha 980,000
& 294,000
o 686,000
- 2Il=s 1,600,000& *50ha 80,000
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FA:
X XH -
o Tt

o2l

m
0
F]
o

L EERI(BI) - MR AL &k oy e =2
= 24,000
fiis 56,000
ez A= is2H XA 51,610 68,400 A 16,790
= 20,524
= 8,059
= 23,027
202 O4Hl 300 0 300
01 =UWobl 300 0 300
OFXgsE 0l HELMAIE XN E 20,0003 x3H x5 300
402 SI2tX+E0IHE 51,310 68,400 A 17,090
= 20,524
& 8,059
= 22,727
01 22R=Ex 51,310 68,400 217,090
O ddag=s 3 £ oS H(12.3ha) 51,310,000& 51,310
= 20,524
< 8,059
i 22,727
& sIIHAE XN&E 100,400 100,000 400
202 O4dl 400 0 400
01 =UW0oidl 400 0 400
Oz&d=sII AN EXNEH = 20,0003 1 +20 400
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SA: FEH s At
HH: sAAWH2AG
CHel: REASY THHH MMEX chel® )
= . CHR|(B1H) - MR A Ao gggﬁ =2t
402 212tXH=01A 100,000 100,000 0
01 222X 100,000 100,000 0
O &g sJ1H Al XE(2Z4l) 50,000,000& = 4004 * 50% 100,000
& 2std EHIA EXAY 127,700 112,500 15,200
202 Ol 200 0 200
01 =Wyl 200 0 200
O &ddsd EHIAM €3 N 84 20,0002 x1& 10 200
402 212tXt=01A 127,500 112,500 15,000
01 2= 2 X 127,500 112,500 15,000
O 38 Zatd EldIAL XA 17,000,000 * 15& * 50% 127,500
=)ls d2HX X4 70,200 70,000 200
= 20,000
= 50,200
202 O 200 0 200
01 =LHAHI 200 0 200
O RJ=s &2 R 20,0003 x1&~10& 200
402 212tXt=01A 70,000 70,000 0
= 20,000
o 50,000
01 CIAX=Ex 70,000 70,000 0
O RIs &2 100,000,000& * 1JHZA * 70% 70,000
= 20,000
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SN HEASAY
HH: solHMAA,
Chel: MBS T MACK KR CCR-ED
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
i 50,000
S HHE= OIS X 2=Al8 X2 34,000 0 34,000
402 RIZ2HX201A 34,000 0 34,000
01 QIZERI=2E X 34,000 0 34,000
O 224014 BIFTHEH SR 2=Ald X2 17hax4,000,000:& *50% 34,000
e sgX7 ZHAIE(BX) 561,600 0 561,600
= 280,800
& 140,400
= 140,400
402 2U2tXH=0IA 561,600 0 561,600
= 280,800
& 140,400
i 140,400
01 BIZEAI=22 X 561,600 0 561,600
Ozt =S N7 ZHA 702,000,000& * 80% 561,600
= 280,800
& 140,400
i 140,400
TEdsg dA2 29 59,300 45,980 13,320
HEtZdsg dA2 2Y 59,300 45,980 13,320
307 2I2t01 & 59,300 0 59,300
05 QIZIRIEZ 59,300 0 59,300
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FA:
X XH -
o Tt

ool

m

40
E
{0

SA B S (3IH) - KIRA e 52
ELMEH XA = 656,546
& 82,068
= 82,068
206 M=l 820,682 491,466 329,216
= 656,546
L= 82,068
i 82,068
01 =4l 820,682 491,466 329,216
O EZHEH 2= XN (6,037€) 820,682,000& 820,682
= 656,546
= 82,068
fiis 82,068
BA=YIIB TS (R2Y S=HIIIS) 701,228 665,900 35,328
= 334,414
= 66,883
= 299,931
101 el H| 9,000 6,000 3,000
10 JIZtH2=AHSE+ 9,000 6,000 3,000
O 2g Its o= 50,000& * 20 » QH=H 9,000
201 etd] 14,800 5,900 8,900
01 AFR2cldl 13,700 5,900 7,800
O H2g s sHIA=E I8 88 & A2 60,000& * 10& *23 1,200
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SN RS S A
HH: solHMAAG
ool FBPSY Ba2D 25 M CCR-ED
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
O H2g8g == &X 20,000& * 400ha 8,000
O 88 MHdstE M 300& *5,000% 1,500
O =H&2 IS LA 1,000& +3, 0004 3,000
02 =294l 1,100 0 1,100
O N&tz 2uEs 220& *5,000% 1,100
202 O4Hl 600 0 600
01 SUWodbl 600 0 600
O X228 s 8X&Ed & AE 20,000 3 +10 600
206 M=l 668,828 654,000 14,828
2 334,414
= 66,883
2 267,531
01 THZ 4l 668,828 654,000 14,828
O 2% S =HI=SE(5,030ha) 668,828,000& 668,828
= 334,414
o= 66,883
= 267,531
301 et a=s 8,000 0 8,000
12 JIEt2 &3 8,000 0 8,000
O =H&A=2 HBEEZ SX==0H 4,000& =2,000kg 8,000
HHlY =24l K& 21,000 6,000 15,000
301 2etE 4= 21,000 6,000 15,000
12 JIEt2 43 21,000 6,000 15,000
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FA:
X XH -
o Tt

o2l

f
40
o
{0

SRRk

- SRI(2IAH) - MR A

0x
i

P
2

2A
R
J2H

0l
I

O HHIY #=3Hdl X& 30& = 700,000kg 21,000
I g N 1,596,624 451,570 1,145,054
= 995,769
= 600,855
206 M= Hl 1,596,624 451,570 1,145,054
= 995,769
= 600,855
01 M=Hl ,596,624 451,570 1,145,054
O |RIIEHIZ X2 A+ (858,400%) 1,596,624 ,000& 1,596,624
= 995,769
[ia 600,855
BE=sg WAS =8 114,848 87,208 27,640
= 3,431
= 111,417
AHIAE=E 23 sg MESEAM 38,578 0 38,578
S 3,431
= 35,147
201 et 10,000 0 10,000
03 A2 10,000 0 10,000
O deEd=sZ ME-A Al = M3 105+ 1,000, 000& 10,000
301 Let2A= 28,578 0 28,578
S 3,431
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B HEHS A
HE: SR YA
¢ I =sY Was =2 (chel: =2
SH-EH . O(E) - MBAY - B of Ao S HRS2
405 KH&HFESHI 500 250 250
02 =AM 500 250 250
O st TN 2] 50,000& = 10 500
FEHA=sY AdSI ASEA 3,201,120 2,179,080 1,022,040
= 1,186,200
= 107,568
o 1,907,352
HEtd=g MNEXN=H AR 1,186,200 648,000 538,200
= 1,186,200
301 LEtE A2 1,186,200 648,000 538,200
= 1,186,200
12 JIEIE A2 1,186,200 648,000 538,200
O detd=se REXNEM KH(3,954ha) 1,186,200,000& 1,186,200
= 1,186,200
tetdsitE 2s K& 418,320 212,520 205,800
== 107,568
iy 310,752
301 LBt AZ 418,320 212,520 205,800
== 107,568
o 310,752
12 JIEIE A2 418,320 212,520 205,800
O 2t sdtE 25 KA (1,9922) 418,320,000& 418,320
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=M= = 158,077
= 368,847
307 526,924 514,954 11,970
L= 158,077
= 368,847
02 526,924 514,954 11,970
526,924,000& 526,924
= 158,077
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S&2 JIESgH sS4XE 589,000 342,000 247,000
s 491,000
& 19,600
= 78,400
402 212t 589,000 342,000 247,000
s 491,000
& 19,600
= 78,400
01 589,000 342,000 247,000
589,000, 000& 589,000
s 491,000
= 19,600
i 78,400
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Rk chol &
SA - E S (3) - HIRA &k oy e =2
307 QIztoIA S 16,530
= 38,570
02 QltFAEX 55,100 23,800 31,300
O SO0tAl A OFH AL 55,100,000& 55,100
< 16,530
i 38,570
StRESS ALY 14,840 14,840 0
= 5,936
= 8,904
307 QIZtolA 14,840 14,840 0
L= 5,936
= 8,904
02 QUHAEX 14,840 14,840 0
O stRSEMY 7,000 *2,1205% 14,840
= 5,936
[ 8,904
HsIE(2H)AY 24,480 24,480 0
307 QIZtolA 24,480 0 24,480
02 DIZHAPE 24,480 0 24,480
O HU=sItE(2H)AMY 68,0002 x2H *3602! x50/ 100 24,480
ges)t AHE 2 8= OIHEd s XN& 30,000 30,000 0
307 QlZtold 30,000 30,000 0
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750,000, 000& *4/100

30,000
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40,000

40,000

40,000

40,000

50,000 *2,0005 *40/100

40,000
40,000

40,000

o

200,000

200,000

200,000

200,000

200,000& *1,0005

200,000
200,000

200,000

10

75,000

75,000

75,000

75,000

500, 000 3005 *50/ 100

75,000
75,000
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SA AR =D
HE: =40 ZM U
el Epbgl SRS (B &3)
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
SM sS4 2= s4 100,000 0 100,000
402 QI2tXHE201A 100,000 0 100,000
01 BIZEAI22 X 100,000 0 100,000
OSM ¢ = s4XI& 40,000,000& * 5JHA = 50/100 100,000
SN SR BAHE st 24 400,000 0 400,000
307 22t0lH 400,000 0 400,000
02 QIZtFAE X 400,000 0 400,000
O g8&8ie® BEdeE=sI 84 K& 500,000,000 *80/100 400,000
=29 AIsSsIt S4X# 67,500 0 67,500
307 2I2t0l & 30,000 0 30,000
02 QItFAE X 30,000 0 30,000
O 3 &2 1,000& 20, 0004 20,000
O axetdt 100& *100,000& 10,000
402 QIZ2tXHE201A 37,500 0 37,500
01 BIZEAI22 X 37,500 0 37,500
O MdeMd&ED 7,500, 000& *1091 2 *50/100 37,500
AL FHEALAIAE 2F 305,000 0 305,000
402 QI2tXHE0IA 305,000 0 305,000
01 BIZEAI=22 X 305,000 0 305,000
O RFID & 2 AMAEAS 50,000& +1,5005 75,000
O Totels+=F&dl K& 2,000,000 *307H £ *50/100 30,000
O SAANEINES 20,000,000& * 2002 *50% 200,000
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